0o-189

OO000O0esO0O0D0OD0OO@DbO22090)

1980 CIPM 1993 VIM
uncertainty GUM
VIM  GUM 2007 2008
2004 JIS
-1
-2
Lo |
| * | \4_ (€ om) (€ ) € o)
) i (€ o7 —» b i
’ | >
3 A
| ( ) U, | (8 MN) >_/‘ (S SP)
* <+ (€ re) (€ o
| @ v | |
-1 -2
M= lim+&om+ EMN,m + €RP,m @ T=ur+eor +eMNT +ERPT @
m T U g m T &m o7 EMN,m  EMN,T
m T ERPm  ERPT m T
(m¢) (my") (m)
(my) m m T T o @
u(m) u(T)
u(m) = ug(m) + U (M + U (M) (3) VM) =M +ugnM+uge(M @)
Up(m)  Up(T) uvn (M) uyn (T)
ugp(m)  ugp(T) me m' m T ©) O]
Up(m)  up(T) upn (M) upn (T)
Urp(M)  Ugp(T) 3 3 -1
T T U(T) u(l' ') PwT IOWTI u(pWT) U(pr ')
Ps
m—mg (5)
P = - - Pt tEP +ERT +Eq + &
ST M (gt /pur ) (My=myg) —m, T TS TEBT TR AR
ES:: EBT 59\/I Ew
Uc(0s)
566-0042

1-3-3

-377-

TEL:06-6827-8833



0o-189

OO000O0esO0O0D0OD0OO@DbO22090)

U (05) = UP(M) + G () + Gy U2 (Th) + Gy - U2 (M )+ G+ () + G - U (AT ) + Upls) + U (05) + U (09) +Uollos) — (6)
Cm = 0Ps/0M, Cipge = Ops/OMy', Crypy = Ops/OMy, Crp = 5ps/(3mf » Cowt = aps/apr » Cowt' = 0ps/Opur:
u(m  u(my)  u(m,)  u(my) u(owr)
u(pwr:) u(ps) Usp(ps)  Upr(ps) Usu(ps) Usy(ps)
-1
-1
No. 2
0 ABC| 3 2 209
— A B C
5 10 2 1 | 66.657 | 66.658 | 66.656
il i = 20g ) 2 66.658 | 66.659 | 66.657 | 66.658
1620 A 1 3 66.657 | 66.659 | 66.657
1 25 109 1 | 151.493 | 151.505 | 151.498
26_30 2 200 < (@[ 2 | 151494 | 151504 | 151.494 | 151.498
31 35 30q 3 | 151.493 | 151.512 | 151.493
1 | 164.338 | 164.355 | 164.342
-2 -2 p(@ | 2 | 164.337 | 164.350 | 164.350 | 164.344
3 | 164.334 | 164.348 | 164.340
1 46.077 | 46.077 | 46.078
1(9) 2 46.078 | 46.077 | 46.078 | 46.078
3 46.078 | 46.078 | 46.078
@ @ -3 1 23.5 23.5 23.5
T ( 2 23.5 23.5 23.5 23.50
(m) Cow) pw =—0.0002T +1.0023 3 23.5 23.5 23.5
1 23.5 23.0 23.0
U(pw) = 0.0002-u(T) T( 2 235 | 230 | 230 | 23.17
4 3 23.5 23.0 23.0
-3
(%) a2 (9) b (9) i (9) () T()
0.00025 | 0.0005 | 0.0005 | 0.00025 0.5 0.5
0.0009623 | 0.0072572 | 0.0069841 | 0.0001925 0 0.28868
0.0005774 | 0.0029627 | 0.0038873 | 0.0004714 0 0
usp(ps) = 0.006815 (g/cm®) 0.0011497 | 0.0078546 | 0.0080087 | 0.0005672 | 0.50000 | 0.57735
Ugy (s) = 0.004900 (g/cm?) 4 oot
t
30 120 109 | 209 | 30g
ps = 2.593+0.0000733 30 120 1 | 2.606 | 2619 | 2.507 | 2.607 | 2599 | 2.507 | 2.501
u(t) = (120—30)/ 243 = 25.98 ( 2 2.604 | 2.627 | 2.598 | 2.600 | 2.577 | 2.595 | 2.592
3 2.606 | 2.618 | 2.595 | 2.603 | 2.580 | 2.595 | 2.603
ugT (0s) = 0.0000733x 25.98 = 0.001904 (g/cm°) 4 2.605 | 2.611 | 2.503 | 2.604 | 2.587 | 2.596 | 2.600
5 2.509 | 2.509 | 2.505 | 2.507 | 2.589 | 2.596 | 2.595
2.604 | 2.615 | 2.506 | 2.602 | 2.586 | 2.596 | 2.596
10 10 15 35
-5
() M=ot i(x)
0.0011497 (9) _0.21358 (¢/cn’/g) | 0.000246 (¢/cm)
m,' | 0.0078546 (g 0.34244 (g/cm’/q) 0.002690 (g/cm’)
ugo (ps) = 0.003369 (g/em %) m. | 0.0080087 (9) 034241 (¢/cni/g) | 0.002742 (g/cmd)
m. | 0.0005672 (g) 0.21361 (¢/cm’/g) | 0.000121 (g/cm)
0.0001155 (g/cm?) 36.193 0.004180 (g/cr)
5 P ur T | 05774 ()
0.0002 (¢/cm*/ )
ps = 2,599 (g/em®) + 0.022 (glem®) (k= 2) ...(7) [ 0.0001000 (g/am’) -29.123 0.002912 (g/cm)
P ur T [ 0.5000 ()
0.0002 (9/cm’/ )
0.006815 (g/cn) 1 0.006815 (g/cnr)
25.98 (min) _ |0.0000733 (¢/cm®/min | 0.001905 (g/cmd)
0.004900 (g/cnr) 1 0.004900 (g/cnr)
0.003369 (g/cn) 1 0.003369 (g/cnr)
. D 0.01124 (g/cm®)
Usk .0 k=2 0.02247 (g/cn)
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